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Q H==(variable)
.|I|-E| DI-9| I:I:|232|O| j}%

a 2Aka=(constant)
IXES| 2FO| HAH Q| Eotsst 22t

O - O

= (0l 3.14, 100, ‘A’, “Hello World!”
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#include <stdio.h>

A
int main(void) H
{
float radius; /] &le| vix| 2
float area; /] o o

printf("& 2| HH S =S L)

scanf("%f", &radius);

area =[3.141592¥W

printf("& 2 =4 &: %f \n", area);

return 0;

A
At




42 XIe¥

d XI="(data type)

=g
" BE A4HY 21+
; » >
— short bytes — float 4 bytes char 1 byte
- 4b -
— int ytes — double 8 bytes
- 4 byt -
— long yies — long double 8 bytes
i
| long long 8 bytes
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QWX: X239 3|
= sizeof(): BI=L} A28 AJ|IE byte =2 BHEol= H AR

#include <stdio.h> . |

int main(void)

e x2 37]: 4

{ charge 37): 1

int x; int&e 37| 4

printf(“81 4= x° 2J|: %d\n”, sizeof(x)); shortde|  37|: 2

] «“ S » e lﬂng%ﬂ 37|: 4
printf(“chara® 2| AJ|: %d\n”, sizeof(char)); long longdle| 27: 8

printf(“int= 2| AJ|: %d\n”, sizeof(int)); float3 | 37| 4

printf(“short= 2| 3 J|: %d\n”, sizeof(short)); hd["”meﬁéi}-' 37]: 8

printf(“long= 2| 3 J|: %d\n”, sizeof(long));
printf(“long long=! 2| 3 J|: %d\n”, sizeof(long long));
printf(“float= 2| AJ|: %d\n”, sizeof(float));
printf(“double= 2| 3 JI|: %d\n”, sizeof(double));

return O;




0 XMAE0| Mo
g short grade; // short& ol ¢
_215',

ey <2, -1, 0, 1, 2, ..., 2° -1
(-32768 ~ +32767)

= int count; /] int&d o HEE MASHC.

2., =2,1,0, 1,2, ..., 2%

(-2147483648 ~ +2147483647)
long distance; // distance&® 2

2o, -2, 4,0, 1,2, ..., 2 A1
(-2147483648 ~ +2147483647)
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a Ol Xl

[+ B4 N2 ADIE HAtsts T2 2/

#include <stdio.h>

int main(void)

{
short vear = 0; /| 022 =D|35}6tCt.
int sale = 0; /] 022 =D|3t&tCt.
long total_sale = 0; /| 022 =D|35}6tCt.
long long large_value; //64HIE X&¥
vear = 10; [] & 302X S UK AEE =9
sale = 200000000; [] & 2192 WX LE= =9
total_sale =year - sale; // & 212 EX &&= F9
printf("total_sale = %d \n", total_sale});

\ return 0; O A3}

total_sale = 2000000000 ]
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A signed, unsigned 24! X}
* unsigned

e =)t Ol gt8t= LIEtEYE = 2| 0]
e unsigned int
. .
signed
e 2S5 E JIAl= gi= LIEIEH = 2/ 0|
- 55| M2
; o P signed short — short
a— _—", short > unsigned short (0, 1, 2,---, 216 —1 (65,535)
. ¢ J signed int — int
[ o S : unsigned int (0, 1, 2,---, 232 =1 (4,294,967,295)
- j signed long — long
; >, | long = unsigned long (0, 1, 2,-++, 232 =1 (4,294,967,295)
unsigned 2 ] signed long long— long long
™S long long [f unsigned long long (0, 1, 2,---, 264 —1)
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A LLHSES (Overflow)

#include <stdio.n>
#include <limits.h>

int main(void)
{
short s_money = SHRT_MAX; [l Azt e =2 =7]sl3tt). 32767
unsigned short u_money = USHRT_MAX; // Hdl4to =2 %=7]35}3skt}, 699535

s_money = s_money + 1; PHEZR |
printf("s_money = %d", s_monev/
s_money = —32768

u_money = 0

u_money = u_money + 1;
printf("u_money = %d", u_money};
return 0;
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A HEES (0Overflow]
» FEA0| ULCH
e 2T H2D|U KSR =2 H QY HI=5HH S&

Fafa FaAaFa

—p 32768 ——» 32767/ —>» ++ —>» 32766 ——> 327067 _I

shorte A

d . wam'd @ wdhetle-d  pame b

unsigned short2| AL
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#include <stdio.h>

int main(void)
{
int x=10; // 102 10& =011 int 0| gi= & & =2 100|LCt.
int y=010; /0102 8%l 0|1 int= 0[] gt2 & &2 80| L.
int z = 0x10; // 0x102 16& =0] 1] int& 0| 1] g2 & & =2 160|LC}.

printf("x = %d", x);
printf("y = %d", y);
printf("z = %d", z);

return O;




1.3 B4H

OTO
QJ|2a+
» /S A (symbolic constant): 1S E 0|25t A4S
Halgt A
= (0dl)

e area * radius * radius;
 area =2P| * radius * radius;

* income = salary * salary;
 income = salary “TAX_RATE * salary;
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QJ12d5 Ol

#include <stdio.h>
#define TAX_RATE 0.2

int main(void) /
{

const int MONTHS = 12;
int m_salary, y_salary; [] 2= &

printfl "YL=S USSIAIQ: "), /] 2 o2
scanf("%d", &m_salary); 222 9/275/4/2: 200
y_salary = MONTHS - m_salary;// =22 2l Al E’fi 2400 g/L/E/-O/
DHNtFC" S =2 %d2lLICH", y_salaryk A= = 480.000000 L/ L/

printf(" Al =2 %f& LICL", y_salary-TAX_RATE);

—_

return 0;
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1) 3.141592 // dou

D

|2XOR A4FHS 012510 HE5lD, doubleE 22 K& S,
e 8 Al (64H| E)
2) 3.141592F // float At (32H] E)

c' rr

== AAI-I /\I-AO| IlA 1) |I:H
T o L

e X+ B21Y oo
123,45 1.2345¢2 1.2345% 10°
123450 1,2345¢5 1.2345X10°
0.000023 23e-5 23x107°
2.000,000.000 2.0e9 2.0x10°
-Ract s Axd A9 (i
1.23456
2 /[l 2440 20 =Ch
.28 [l B+571 glojxe =k
2e+10 /l +L} -7|158 A£50 2¢€ £+ UCh
9.26E3 /[ 9.26x10°
0.67e-9 // 0.67x10
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ofH QLHEZ=R

JUSPS

=2 (Overflow)

9

= .

#include <stdio.h>

int main(void)

ZRFIFHN QLHEER
!

{ —/
float x = 1e39;
printf("x = %e\n",x);

}

X =inf

HEotc & OF R /L 24412 . ..

-HE=R I EdotH Bt

rlr

of

g H0 2t E 2/0lok= inf U
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(=
Q8E A4H
» B35 A8 I HS HOLA EEot)|IF e = &&= 20|
= floats Ha= 1.23456X10738 20| = FLEE JHXBA
HDE &2 20t 2. AHEZZRA 022 &8
#include <stdio.h>
int main(void)
{ Tt B
float x = 1.23456e-38; égggﬁggg
float y = 1.23456e-40; J
float z = 1.23456e-46;
printf("x = %e\n",x);
printf("y = %e\n",y);
printf("z = %e\n",z);
}
x =1.234560e-038
y = 1.234558e-040 //010| 2& &t =2 210 =&
z = 0.000000e+000
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a2 OtA I A&

= = BREEL

i
O
y
o
o
01
0

= S8 #A0] 2K0otLt.

« OtAI| 2 E(ASCII: American Standard Code for
Information Interchange)

ColM EXt=
XK=
HEFLC

69 71 74 78

A€ GJN




4.5 S XA
Q 2Xiet 0tA ] A=

=108 A R B A RS G 7 Rl o BAT VBN N BRd BEN BEN  4-bit (b,, bs, by, by)
0 |NUL |SOH| STX | ETX |EOT |ENQ|ACK|BEL| BS TAB| LF | VT | FF | CR | SO | Sl

1 | BLE DC1-DC2 DC3 | DC4 |[NAK SYN |ETB |CAN| EM |SUB ESC| FS | G5 | RS | US

2 ! e ls|sle| [ [=T«].7-1.71/
BIUI1.2I3:4.5IEI?.BJQI!.i.{l=.}.?
slel@ slcl|olelrlaeln| o]k L[m|[n]o
s plalrR s | Tlu v iwlx vyl z|t/wl 1]+]|_
E-'.®-b-c.d.e-f.g.h-i.j-k-l-m-n-o
?-plq rlsltlu-vlwlx-ylz-{-l.]-N-DEL

3-bit (b, by, bs)

. A=(41),,=(100 0001),=65
. a=(61),,=(110 0001),=97
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Q=X Y=

= Al g

s = A Hchar® =

c 2RO L2 HEE
. BHIER 28=25601°] X M & It
" 2T MDA HE HS (1SER

char code,;
code

[==]
code = 65;

J

code

char

2 MEA 2 AF
l l
R | A
code char
0
65 j;j!f




A =X H=91 =Xt &= Ol Al

/* =X B2 EA A/

#include <stdio.h>

int main(void)

{
char codel ='A"; // XAt &2 |35}
char code2 =65; // OtA3J| 2DEZ |3
printf(“codel = %c\n", codel);
printf(“code2 = %c\n", code?2);

}

codel = A

code2 = A
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a 0[AAIOIE A|A Alescape sequence): E+ =XIS

Hlof X} 0I5 o/
\@ HExt
\a Z1(bell “tl"sh= 308 U
\b 4 ATH| 0| A(backspace) HME Sxe] R0 A §t 22Xt FI= FICt
\t Z2=HeH(horizontal tab) #MY HX|E S 2o dEE oS 8 A= S0
\n St (newine) 7IME CHS 21219 AlE QIRIZ f2Ick
\v “X]%(veriical tab) HEEO U= O A 2ARIZ HME OIS
\f Z1|=(jorm feed) F2 T2igA ZHECZ ChS HOIXIZ 2 mf AFSECE
\r FH2fX| 2|E(carriage return) 7AME Sixf 2219 AJEE 2IX|2 F71C
\" 2i=sH 9| EnksH AbH|
\' s e o AR IhsH AbH|
\ &2 Al(back slash) 2] A&l A| Kix|
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A M$dOZ M9 chard

- 8HIEC H4E HAOH=O char S ASE £ S

#include <stdio.h>

int main(void)
{
char code =
printf("%d %d %d \n", code, code+1, code+2); // 65 66 670| =
printf("%c %c %c \n", code, code+1, code+2); // AB CIt = &},
return O;

=l CF.

65 66 67
ABC
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Q 0| XT|ak
» 220 2HLN?

sum_error.c

#include <stdio.h>
int main(void)

W 00 ~ O N = W M~ =

{

int x, y, z, sum; //sum= Z=J|3t0}
printf("37HQ] F4+E YHSIHL (x, v, 2): ");  //AOA MADIIUSZ MIAS
scanf("%d %d %d", &x, &y, &z);

sum += X;

Micrasoft Visual C++

sum += Yy,

sum += Z; @Dﬁmﬂmﬂ

printf("B?II ZJ¢2| E*f:’ %d\ﬂ", SUIII); ﬁﬁp?ﬁmmmmmmwmmmmwmm.ex
return 0; ot

17 ProjectswConsoleapplication 3% Debug#Consoledpplication3 ex
e
File:

Aun-Time Check Failure 3 - T
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sum_error.c

1 #include <stdio.h>
2 int main(void)
3 { o= AF2O0H| H0l
il int x, Y, Z, sum; tll_I'EAI EJIQI' AI;IOI: Gal‘!
5
6 sum = @
7 printf("3742| H+E YHSMR (x, y, 2): ");
8 scanf("%d %d %d", &x, &y, &z);
9 sum += X;
10 sum += Yy;
11 sum += Z;
12 printf("374 A2 €2 %d\n", sum);
13 return @;
14 }
O 4%z
[B?HE'-I d+E YUAsL (x, v, 2): 10 20 30 ]
37le] d=2] g2 60




